Foundations for College Algebra
University of North Georgia
Fall 2015
Quiz 6
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1. Determine what “Tool” is being used: (61 + 53) + 29 = 61 + (53 + 29)

2. Find the Prime Factorization of 392 using a “factor tree”,
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3. Use the Order of Operations to simplify: ge2—2
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4. The Yurok Tribe has the option to purchase 47, 000 acres in order to increase ancestral
territory. The first phase would include 22,500 acres in the Cappel and Pecman
watersheds. The second phase plans for acreage in the Blue Creek area. How many acres
could be purchased in the second phase?
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5. Solve for x;
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6. Sketch the line number depicting 9 — 4.
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